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measure from 90% of “high” value to 10% of “high” value
* Intended to exclude any ripple or overshoot

r

T AT T TRFT TR

o

4

output

tf M

14 ]
12 = = &
1.0 1
= 08
o
= 0.6 1
=
(=] 4
):} 0.4
0.2 A
0.0
Vi(vin) WV (vout)
108.8671p 108.8671p
1.0641 1.0800
130.1178p 130.11738p
1.2000 120.0000m
21.2507p 21.2507p
135.94938m -980,0000m
£.3974G -45,1750G
47.0573G 47 .0573G

00p 105p 110p 115p 120p 125p 130p 135p 140p 145p 150p

Time (s)

_|

<+— 90% of 1.2

<« 10% of 1.2
< tf

ELE 3510

Note: there is limited resolution

so the value measured may be slightly

different




ELE 3510

° tr

measure from 10% of “high” value to 90% of “high” value
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Note: there is limited resolution
so the value measured may be slightly
different
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output “high” value on an output rising edge
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measure from 50% of input “high” value to 50% of

14 ]

12
1.0 1
0.8 -

o

i
Voltage (V)
—

o

'

aWaV

04 1
0.2 1
Cursor n
V{vin) WV {wout)

l 665.0000p 665 .0000p
El > 600, 0000m 2 25
M2 675.0160p 675.0160p

2 0.0000 600 . 0000m

x 10.0160p 10.0160p
dy —600.,0000m 625.3284m
Ay dx -55.,490445G 62 .4332G
1/ d= 949,3407G 94 . 84075

P 670p

680p 630p 700p

——— 50% of input

<+— 50% of output
~ tpdr

ELE 3510

Note: there is limited resolution
so the value measured may be slightly
different
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* t,gs measure from 50% of input “high” value to 50% of
output “high” value on an output falling edge
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